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Statement I: In the 'before-and-after without control’ design, a single test group or area is selected a@ dependent variable is measured before the
introduction of the treatment.

10) Given below are two statements

Statement Il: In the 'before-and-after with control’ design, two areas are selected but the ariable is not measured in both the areas for an
identical time-period before the
treatment.
In light of the above statements, choose the most appropriate answer from the below
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Statement I: In the 'before-and-after without control’ design, a single test group or area is selected a@ dependent variable is measured before the
introduction of the treatment.

10) Given below are two statements

Statement Il: In the 'before-and-after with control’ design, two areas are selected but the ariable is not measured in both the areas for an
identical time-period before the
treatment.
In light of the above statements, choose the most appropriate answer from the below
oft?s €1 eeror Ru o & :
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[Question ID = 1965][Question Description = sz_qSNz_PG_G%
1. Both Statement | and Statement |l are correct/mera | Az || 2l 38 5%

[Option ID = 7857)
2. Both Statement | and Statement | are incorrect/aesm | aft2 ||

[Option ID = 7858]

[Option ID = 7859]
4. Statement | is incorrect but Statement Q@:l w1 8, Wy e || wlt 8
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9) Match List | with List Il

List |

List Il

Research Design

Type of study

A. Sampling design

I. Pre-planned design for analysis

B. Statistical design

Il. Structured or well thought out instruments for collection of

C. Observational design

flll. Advanced decisions about operational procedures

D. Operational design

I¥. Probability sampling design

Choose the correct answer from the options given below;

apedt -1 it el -1l A R i ;

%
s

ot - gt -l
(oiver Fmgar) {weercsss wn geow)

A. v Fam |, foreeveron @ v ef Raeltfen e
B. Frifirenf Faeat e a——

C. g Rmean T r——
e — T — N\
witet fo sm el & 3 308t Tae i 0

[Question ID = 1964][Quest @cﬂpﬂnn S2_qSNz_PG_GP10_Q14]

TV 2 o n-m

[Option ID = 7853]
2. A-l,B-lll ru:-w,:::

[E}pllanID =7
A, BNl

foge éﬁ]

c -, D=
[Dpllnn ID = 7856]



3. Statement | s correct but Statement Il &
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Statement |: If we are interested in the worldview of members of a certain social group, a qualitative research s that is sensitive to how
participants interpret

their social world may be preferable. @
Statement |l: If a researcher is interested in a topic on which little or no research has been done @, quantitative research may be easy to

employ because
there is little prior literature from which to draw leads.

In light of the above statements, choose the most appropriate answer from the optio Vi low
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[Question ID = 1963][Question Description = S2_qSNz_PG_GF1 1
1. Both Statement | and Statement |l are correct faserm | itz || St )b

[Option 1D = 7849]
2. Both Statement | and Statement |l are incorrect/wem

[Option 1D = 7850]
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7) Which among the following is the names for validity whereby researcher uses a f& measure, rather than a contemporary one?
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[Question ID = 1962][Question Description = 52_qSNz_PG_GP10_Q12] 0
1. Convergent validity/ sfSramdt A

[Option 1D = 7845]
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3. Construct validity/ am e
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[Option 1D = 7848]
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[Question ID = 1961][Question Description = 52_qSNz_PG_GP,
1. Quota sampling/aier yiverms

[Option ID = 7841]

2. Snowball sampling/ sivdter qiverem Q
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3. Conventence sampling/ o v
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3) Given below are two statements Q
O

Statement |: Reliability refers to whether a test measures what it says it measures?

Statement |l: Validity refers to whether a test consistently yields the sa ar scores.

In light of the above statements, choose the most appropriate ans @ e options given below
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6)
The type of research in which the researcher gains familiarity with a phenomenon or to

achieve new insights into it, is known as :

I @ Exploratory research study

(3)  Descriptive research study (4)  Hypothesis testing study
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[Question ID = 1011][Question Description = ’\ neral_19_0CT22_Q11]
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[Question ID = 1012][Question Description = 112_00_General_19_0CT22_Q12]

1.1 !Uitfon ID = 4045!
3. 3 [Option ID = 4

4. 4 [Option ID = 4048)



9 Identify the correct sequence for the technique of developing measurement tools :

(A)  Specification of concept dimensions
(B)  Selection of indicators

(C)  Concept development

(D)  Formation of index

Choose the correct answer from the options given below:

(1) (A (B). (). (D) QQ\
2  (O), (A). (B). (D)
3) (B (C). A, (D) (b.o

(4) (D). (A.(C). (B (\)Q
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(C) EERL]

(1) (A, (B), (©), (D)
(2) (O (A (B), (D)
(3) (B (C). (A). (D)
4) (D). (A (C). (B)

[Question ID = 1013][Question Description = 113_00_General_19_0CT22_Q13]
1. 1 [Option ID = 4049]
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9)

With reference to Likert-type scale, the correct set of options include :

(A
(B)
©)
(D)
(E)

Likert-type scale can be performed without a panel of judges

Likert-type scales are not considered reliable

Likert type scale takes more time to construct

Each statment in Likert-type scale is given an empirical test for discriminating ability
Likert-type scale can be used in reopondent-centred studies

Choose the correct answer from the options given below:

(1) (A), (B). (C) only
(2)  (B).(C). (D) only \
(3) (A, D). (E)only ®
4)  (C). (D). (E) only QQ
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[Question ID = 1014][Question Description = 114_00_General_19_0CT22_Q14]
1. 1 [Option ID = 4053]
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10)  Match List I with List 1T :

List I ListII

(A) Ho1#=ﬂao=100 (I) Alternate hvpothesis is that the population mean is
not equal to 100

(B) H,:p=pg (IT)y Alternative hypothesis is that the population mean is
greater than 100

(C) Hgy:u>pg, (ITIT) Null hypothesis is that the population mean is equal to
the hypothesised mean 100

M) H,:u<pg, (IV) Alternative hypothesis is that the population mean is
less than 100

Choose the correct answer from the options given below: @\
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[Question ID = 1015][Question Description = 115_00_General_19_0CT22_Q15]
1. 1 [Option ID = 4057)
2. 2 [Option ID = 4058]
3. 3 [Option ID = 4059]




6)
Historical research has the limitation of

1. Problem identification
2. Analytical synthesis

4, Probable conclusions ®\

[Question ID = 551][Question Description = 111_0_GP16_SEP22_52_Q11]
1. 1 [Option ID = 2201]
2. 2 [Option ID = 2202]
3. 3 [Option ID = 2203]
4. 4 [Option ID = 2204]



8)
Which of the following have been considered as threat to internal validity in research?

A, Randomisation
B, Generalisability
C. Maturation

D. History

E. Instrumentation

Choose the correct answer from the options given below: ®\

1.A Band Conly QQ
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[Question ID = 553][Question Description = 113_0_GP16_SEP22_S2_Q13]
1. 1 [Option ID = 2209]
2. 2 [Option ID = 2210]
3. 3 [Option ID = 2211]
4. 4 [Option ID = 2212]



9)
Given below are two statements

Statement |: The qualitative data are powerful because they are collected from very sengitive social,
historical and temporal context @'\

Statement II: Context sensitivity cannot be completely removed from the qualit('@ta.

In light of the above statements, choose the correct answer from theopﬁw below

2. Both Statement | and Statement || are false @

3, Statement | is true but Statement |l is false OQ

4, Statement | is false but Statement |l is true «
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1. 1 [Option ID = 2213]
2. 2 [Option ID = 2214]
3. 3 [Option ID = 2215]



10)

Match List | with List II

List | List Il

Research Perspective Discipline

A. Phenomenology . Anthropology

B. Ethnography I, Sociology

. Ethnomethodology IIl. Social psychology

D. Symbolic interactionism IV, Philasophy @\

Choose the correct answer from the options given below: QQ

>
1AL B-Il,C-lIl,D- IV (‘)Q\

2A-ILB-I,C-1V,D-I

3A-ILB-IV,C-1,D-Il «OQ@

&
it -| BTG -l ﬂﬂﬁfﬁaaﬂﬁu:‘ O
T -1 (T URUE OQ@@-“ (R

A, Fafaemd | 74 faqH
UGG as) I, GHISRIT

C. T WoTRet o I, IR AR
SR GICARERE V. G

e A Y HE IR YA

1.&,B-I|,C-III, D-v

2.A-1LB-LC-1V, D-I
3.A-IL,B-IV,C-I, D-1I

[Question ID = 555][Question Description = 115_0_GP16_SEP22_S2_Q15]
1. 1 [Option ID = 2217]
2. 2 [Option ID = 2218]
3. 3 [Option ID = 2219]



Sl. No.12
QBID:351488

Retrospective studies are related to
(1) Social issues
(2) Language development

(3) Political events
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1[Option ID=22645]
2[Option ID=22646]
3[Option ID=22647]

Sl No.13
QBID:351491

Which of the following statements are true?

A. An ideal sample is always possible @
B. Time and budget constraints do not hinder the selection of an i% e

C. Sampling inadequacies can be managed «
D. A large sample can meet the inadequacies 0

E. A representative sample is beneficial !
Choose the correct answer from the options given below:
(1) A Band Conly .
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2[Option ID=22650]

&




Sl. No.14
QBID:351494
Given below are two statements
Statement I: The research questions should be linked to each other.

Statement lI: The research questions should be either broad or narrow.

In light of the above statements, choose the correct answer from the options&’
below Q

(1) Both Statement | and Statement |l are true (\)Q
(2) Both Statement | and Statement || are false @

(4) Statement | is false but Statement Il is true
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Sl. No.15
QBID:351501

Match List | with List II

List | List Il
Type of analysis
P yt Description
A. Path analysis I. Looks at argumentation systematically
B. Content analysis Il. Simultaneous analysis of two sets of vairables

. ) ) Ill. Represented by structured linear regres
C. Canonical correlational analysis @

equations
D. Discourse analysis IV. Uses the method of unitisation
Choose the correct answer from the options given below: \Q
(1) A-1,B-1,C-1I,D- IV Q)O
(2) A-IV,B-1,C-1I,D-1l OQ
| () A-ILB-IV,C-I,D-1I b «

(4) A-1,B-1ILC-1V,D-I 40
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(1) é\,ﬁ-u,c-lu, D-IV
(2) A-IV,B-I,C-I,D-1
| @ A-ILB-IV,C-1L,D-1
(4) A-ILB-IILC-IV,D-1I

1[Option ID=22657]
|2[Option ID=22658]
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5)
Which of the following scales of measurement issynonymous to ranking or grading?
1. Nominal scale
2. Ordinal scale
3. Interval Scale
4, Ratio Scale

Fraftiad # | 7107 @7 o1 | U3 eras 91 Aofiasa o |9 & 2

1. FifE® J5Er

2. FHYES GaHl
3, T OEFT

4, 3T 9O

[Question ID = 10233][Question Description = 110_0_GP20_SEP22_52_Q10]

' 3. 3 [Option ID = 10931]
4. 4 [Option ID = 10932]

6)
Population census can be an example of ] 0

1. Historical Study

2, Case Study
C et O
O

4, Experimental Study ‘\\
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1. R g
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[Question 1B = Q][Question Description = 111_0_GP20_SEP22_52_Q11]
1. 1 [OpgionyD % 10933]

An analysis of the subject’s life for meaning has the focus of

1. Structuralism
2. Pragmatism
3, Sociology

3} Bq 3rwn e (@eoige) & Siied & faeawn F Fufafaa o & bus view g 8
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|
Which of the following are the characteristics of case study research?

A. It is simulated in a laboratory,
B. It is particularistic.

C. It is descriptive.

D. Itis inductive.
E. It is disruptive. QQ\

Choose the correct answer from the options given below: (b,

1. A, B and C only ()Q
- 2BCandDonly

3.C,Dand E only QQ

4, A B and E only 0

Frafead & § 0eI0 e oY @1 5k 9 & g7
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B, 7% RARIBATRS & O(b
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[Question ID = 10236][Question Description = 113_0_GP20_SEP22_5S2_Q13]

3. 3 [Option ID = 10943]
4. 4 [Option ID = 10944]



9)
Which of the following are included in a research article?

A. Introduction
B. Data

C. Data analysis and results

D. Foreward ®\
E, Letter of recommendation QQ

Choose the correct answer from the options given below: Q(b

2

2.8, Cand D only

3.C,DandEonl
et A
O

40
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[Question ID = 10237][Question Description = 114_0_GP20_SEP22_52_Q14]

2. 2 [Option ID = 10946]
3. 3 [Option ID = 10947]
4. 4 [Option ID = 10948]




10)
Given below are two statements

Statement I: Exploratory research is conducted for data indications,
Statement lI: The goal of exploratory research is to gather final data to find out causality.
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are true ®\
2. Both Statement | and Statemerit || are false

4, Statement | is false but Statement |l is true s&b
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[Question ID = 10238][Question Description = 115_0_GP20_SEP22_52_Q15]
1. 1 [Option ID = 10949]
2. 2 [Option ID = 10950]



